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(8 marks) 

Notes 

(a) 

B1: (2 , )k k−  

M1: Attempts to use Pythagoras’ theorem to find the radius2 (may be implied by their radius) 

A1: 
25 80k −  

(b) 

M1: Substitutes 2y k x= −  into the equation for C, multiplies out and proceeds to a three term 

 quadratic in x 

A1: 2 25 12 3 80 0x kx k− + + =  or simplified equivalent. Terms do not need to be on the same 

 side of the equation and the = 0 may be implied. May also be implied by their values for 

 a, b and c when using the discriminant. 

M1: Attempts the discriminant using their a, b and c where b and c are both in terms of k and 

 attempts to find the critical value which is greater than 4 (usual rules apply for solving a 

 quadratic). Do not be concerned if they find the other critical value 
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 mark. 

M1: Attempts to find the correct inside region using their critical value which is greater than 4 
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 or equivalent using set notation. Look for    with the correct 

 region in terms of k. 




